


QUESTION 1

1.1 Solve for x in each of the following;

1.1.1 :{EHI]:I]

Sx? +2x—6=0 (correct to TWO decimal places)
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2x+5 ——.—3 ==1
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QUESTION 3
3.1 Given the linear pattern: 7:2 ;-3
3.1.1 Determine the general term, T, of the linear pattem.

3.1.2 Calculate the value of T, .

1.1.3 Which term in the pattern has a value of -1387

3.2 03 2x+1 and 3x-3 are the first three terms of a linear pattern,

Calculate the value of x.




QUESTION 3

Given: f{x]=%+2 and glx)=x+2
X-=:

5.1 Write down the equations of the asymptotes of £,

5.2 Determine the x-infercept of /.
5.3 Determing the p-intercept of /.

5.4 Sketch the graphs of [ and g on the same system of axes. Show clearly ALL the
intercepts with the axes and any asymplotes.

Calculate the x-coordinates of the points of intersectionof f and g.




